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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 35 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A - Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

In Section E - Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying
1 mark each. 18 x1=18

1.

56/3/2

Which of the following has the highest melting point ?
(a)  o-Dichlorobenzene

(b)  m-Dichlorobenzene

(c)  p-Dichlorobenzene

(d)  All have the same melting point

Sodium phenoxide when heated with CO, under pressure, followed by
acidification, yields :

(a)  Sodium benzoate (b)  Salicylic acid

(c) Salicylaldehyde (d)  Benzoic acid

3> P.T.O.
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A compound (A) with molecular formula CzH,,O, forms a

phenyl hydrazone and gives negative Tollens’ and iodoform tests. The
compound on reduction gives n-pentane. The compound (A) is :

(a) Pentan-3-one (b) Pentanal

(c) Pentanol (d) Pentan-2-one

Benzene diazonium chloride on hydrolysis gives :
(a)  Phenol (b)  Chlorobenzene
(c) Benzene (d)  Aniline

Helical structure of proteins is stabilized by :
(a)  ionic bond (b)  covalent bond

(c) hydrogen bond (d) Van der Waals forces

A vitamin which plays a vital role in the clotting of blood is :
(a) Vitamin A (b)  Vitamin K
(c) Vitamin D (d) Vitamin B

The rate of reaction A + B —— Products, is given by the equation

r = k[A] [B]. If B is taken in large excess, the order of reaction would be :
(a) 2 (b) O
(c) 1 (d) Cannot be predicted

An azeotropic mixture of two liquids has a boiling point higher than

either of the two liquids when it :

(a)  shows large negative deviation from Raoult’s law.
(b)  shows no deviation from Raoult’s law.

(c) shows large positive deviation from Raoult’s law.

(d)  obeys Raoult’s law.
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9. HICRSY A Y& fagq-ees & o ffaRea dag fean -
A=A,—AJC
freferfaa oo § @ SiH-91 99 B 2
(a) A=A, FHC —> VA
Bb) A=A FHC —>0
() A=A, FfhC —> oo
@ A=A FHC—>1
10. TARER foetaqt o gan B
(a) HHM YEl g (b) HHAH FILTH
(c) TUM T (d THN 9T T[S

11. KMnO, &0 W1ead H STiaEihieh i Wifd &1& Hdl 3 | 59 &lF KMnO,
! KI % |1 AHHA TR AT 7, A AISES A TTIhd BT @

(a) L (b) 10 H
¢ I0;H d 10,
12. Trefafea § @ st g urq gited- st staeen 737 gt @ 2
(a) Ti (b) Cr
() Cu d Sc
13. T=fifad gal # 9 E-A1 Fieie’ 954 g ?
(@)  [Co(NHz)gl*" (b  [Colen)g®*
(©  [Co(NHg),Clyl* d  [CoFg®

o [N e

14. Tr=fafad # @ SH-A1 9%d gau FHEIEd g7 gl 8 ?
(a)  [Co(en)yCl,]" (fo&r &)

(b)  [Co(en),Cly]" (WHUE &)
(©  [Crlox)g)>
@  [Cr(en)g)®
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9. Kohlrausch gave the following relation for strong electrolyte :
A=A,—AC

Which of the following equality holds true ?
(a) A=A,asC —> VA

(b) AN=AN,asC —— 0
(c) AN=AN,asC —>
(d) AN=AN,asC —— 1

10. Isotonic solutions have :
(a)  same osmotic pressure (b)  same boiling point

(c) same melting point (d) same vapour pressure

11. KMnOy4 acts as an oxidising agent in alkaline medium. When alkaline
KMnOy is treated with KI, iodide ion is oxidised to :

(@ I, b 10~

(© 10; (@ 10,

12. Which of the following transition metals does not show variable oxidation

state ?
(a) Ti (b) Cr
(c) Cu (d Sc

13. Which of the following complexes is a ‘chelate’ complex ?
(@)  [Co(NHg)gl®" b)  [Colen)gl®”
(c) [Co(NHj) 4012]+ (d)  [CoFgl 3=

14. Optical isomerism is not shown by the complex :

(a) [Co(en)zCl2]+ (trans form)
(b)  [Co(en)yClyl™ (cis form)
©  [Cr(ox)gl®

@  [Cren)s**
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For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

15. Assertion (A): Zinc is not regarded as a transition element.

Reason (R): In zinc, 3d orbitals are completely filled in its ground

state as well as in its oxidised state.

16. Assertion (A) : Nucleophilic substitution of iodoethane is easier than

chloroethane.

Reason (R): Bond energy of C — Cl bond is less than C — I bond.

17. Assertion (A) : Electrolysis of aqueous solution of NaCl gives chlorine gas

at anode instead of oxygen gas.

Reason (R): Formation of oxygen gas at anode requires overpotential.

18. Assertion (A) : Order and molecularity of a reaction are always same.

Reason (R): Complex reactions involve a sequence of elementary

reactions and the slowest step is rate determining.
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19.

20.

21.

22,
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SECTION B

19. Show how you will synthesise : 2x1=2

(a) from a suitable alkene.

CH,OH

(b) O from methanal using a suitable Grignard reagent.

20. Write the chemical equation involved in the following reactions : 2
(a) Carbylamine reaction
(b)  Gabriel phthalimide synthesis

21. (a) () How are carbohydrates stored in animal body ? Mention any
one organ where they are present.

(11) What is the basic structural difference between starch and

cellulose ? 2
OR
(b) Differentiate between : 2

(i)  Peptide linkage and Glycosidic linkage

(11) Nucleoside and Nucleotide

22. (a) Define fuel cell and write its two advantages. 2
OR
(b) Using E° values of X and Y given below, predict which is better for
coating the surface of Iron to prevent corrosion and why ? 2
Given : E;(2+/X =-236V
EY2+/Y =-014V
EFe2+ Fe = 044V

56/3/2 11> P.T.O.



23.

24.

25.

26.

27.
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X 3R Y gdi <l faa w qfurmeasy s a1 fae™ 1 1a 9¢ Sar 8

g 1T faee U3ee 9w @ form R k1 foree ewrfar 8 2 X 3R Y 2al <l
o™ T 319 9™ | 7 gied Seqo sha ? 2

AfyfeRar
2NO, (g) + Fy (g) — 2NO,F (g)
& forq f=fafiga stfes ure gu

TN H&A | [NO /M | [Fol/M TRIF a7
M min—1!
1 0-2 0-05 6 x 10—3
2 0-4 0-05 1.2 x 1072
3 0-8 0-10 4.8 x 1072
arffshan 1 P il A HINT | 2
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Que T
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+
CH, = CH, + H,0 —2 CH3CH,OH

(@) OCH, ! |15 HI % |19 TH s T IS 391Gl 6!

=AM fAafEu | 2+1=3

3cqre <t Tl faflgu 9 D-epre frefafad & @y stfufsen wear #
(18 @17 ) 3x1=3
(%) HI
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23.

24.

25.

26.

27.
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On mixing liquid X and liquid Y, volume of the resulting solution
decreases. What type of deviation from Raoult’s law is shown by the
resulting solution ? What change in temperature would you observe after
mixing liquids X and Y ?

The following data were obtained for the reaction :

2NO, (g) + Fy (g) —— 2NO,F (g)

Fxperiment | (oI | [F M | HR T
1 0-2 0-05 6 x 1073
2 0-4 0-05 1.9 x 1072
3 0-8 0-10 4.8 x 1072

Determine the overall order of reaction.

Give reasons for the following :

(a) Carboxylic carbon is less electrophilic than Carbonyl carbon of

aldehydes and ketones.

(b) Propanal is more reactive than Propanone towards addition of

HCN.

(a) Write the mechanism of the following reaction :
CH, = CH, + H,0 — %, CH,CH,0H
(b)  Write the structures of the products obtained by heating

OCH3 with conc. HI.

SECTION C

2+1=3

Write the structure of product when D-Glucose reacts with the following :

(any three)
(a) HI

(b) Conc. HNO3

(c) Bry water

(d) HCN

3Ix1=3
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28. IAMNMHAT A1 FET & 1 8 I d9 H qiEad 27°C € 37°C T 21 & |
F1ffsra o fore afshaor Soft gitepierd 1T | (R = 8314 J K™ mol ™) 3
(fe=m T 2 - log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021)

29. 0-3 g WHifewh 31 (M = 60 g mol~1) 30 g SSfiA H =N W f&\Teh § 0-45°C &1
A BiaT B | A I8 foaeem # fgag smman B, @ dfienfora shifsie fob et =
v fehaq wfcrera g | (feam mam - 99 % fTT K= 5-12 K kg mol ™) 3

30. (%) FeAfaRad sfufmnst § A, B 3t ¢ 61 gwATd Rt - 2x1§:3

(i) @ COOH—18, o P2t RaOH , p

NaNOy + HCI

C
0°C
(i) CHyCH,Br —KCN , o LiAlH4 g nggz e
arora .
(@) o fFAfafiad S 8 St . 3x1=3

i)  UfefA 8 psiHefet
(i) THTgsh 3 § HAHIA
(iii) SRR & 1-UHHeA
Qs Y
[lTRga o7 Sa-3TeTRT 397 & | & H1 GagrHigas 9ieq 3K 57 717 39491 & IT
T |
31. 3IUHEEIANH Afi @i, qmaﬁtmvﬁ\ﬂlldﬁ&bgdmﬁﬁaﬂﬂi‘sﬁt
Jecifoeh TERE, 9Tgehd, Siide Jomferdl 3R vy o & H 3 Hsrolgwl kTl
T i o TIT M AT & | 3Tehs T o g & TR, IuHgHASH AT
H oM™ a1g WET/3TRE @ YR hl HANSehad (Sefies e fgediaes) 1 3w
A & | FHEISA o 0T HT ITAN HA FC I/ IAh ITHGHASH TATAT hl
ST SATHIAAT o TR H F[RE hl | SASThdT @9 g (VBT) SuHgEdSH
IRl o S, JFaehd FAgR AT SATHAR STRR{qAT T T TIERIO <l
2 | T oft o8 Tagia 57 Nfirent o gaur 1ot & deg ° $o ft 78 Faar | fhed
& fagid (CFT) SusgadisH Aifient # foemm el o1g wumuy/e1ee & d-sherehi
1 il <l gaar R it foheed &l & e (fefrel i fog 3f1ee 7d ge
3ok g YT YWTd) hl SIHEAT LT & |
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28. The rate of a reaction doubles when temperature changes from 27°C to
37°C. Calculate energy of activation for the reaction.

(R=8-314 J K™ mol ™) 3
(Given : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021)

29. 03 gofaceticacid (M =60g mol™!) dissolved in 30 g of benzene shows a
depression in freezing point equal to 0-45°C. Calculate the percentage
association of acid if it forms a dimer in the solution. 3
(Given : K for benzene = 5-12 K kg mol 1)

30. (a) Write the structures of A, B and C in the following reactions : 2x1 é =3

() @ coon—"Hs, o P2 tNaOR , p

NaNOy + HCl

C
0°C
(i) CH,CH,Br KON , o LiAlHy 5 HNOy o
0°C
OR
(b) How will you convert the following : 3x1=3

(i)  Aniline to p-bromoaniline
(11) Ethanoic acid to methanamine
(ii1) Butanenitrile to 1-aminobutane

SECTION D

The following questions are case-based questions. Read the case carefully and
answer the questions that follow.

31. Coordination compounds are widely present in the minerals, plant and
animal worlds and are known to play many important functions in the area
of analytical chemistry, metallurgy, biological systems and medicine. Alfred
Werner’s theory postulated the use of two types of linkages (primary and
secondary), by a metal atom/ion in a coordination compound. He predicted
the geometrical shapes of a large number of coordination entities using the
property of isomerism. The Valence Bond Theory (VBT) explains the
formation, magnetic behaviour and geometrical shapes of coordination
compounds. It, however, fails to describe the optical properties of these
compounds. The Crystal Field Theory (CFT) explains the effect of different
crystal fields (provided by the ligands taken as point charges) on the
degeneracy of d-orbital energies of the central metal atom/ion.

56/3/2 <15 > P.T.O.



() 99 IuHgEASH Af NiCly, . 6H,0 ol AgNO, foee % |19
T, @ i @i @fes % fae 2 7 AgCl sEafud gu |
el I TS §F Td bl A i fgcdtas Gismepdl

fafau | 1
(i)  [Co(NHg)5(SOICl % R HWEEd 1 5. .H.CH. ™

ferfe | 1
(i) HASRaT ey Hgia #1 IwAM wd gY, Efafaga st

IR T AR hl IR hIT

(1) INi(CO),]
2)  [Fe(CN)gl%"

[FHTO] ShHT : Ni = 28, Fe = 26] 2 x1=2
areran
(iii) R AT 2x1=2

(1) T =30 IqsheTh F%d T8l 99 d ¢ |
2)  [Co(NHy) l°" Wh ofiditsh wheleh GHpad 8  wellh
[Ni(NHg)g]”" T 9Tel *heieh Ggped 2 |

[FHT9] AT : Co = 27, Ni = 28]

32. Ufchal gaEe8l & C — X @Y 1 gadl b ARG TIdETTH,
foeiios o a1g qEmpeTi | Afufhan g searfcas ARl % fmi % o
IAERN B | Ufeshd 2SS hl Ueehdl o b Hodh gallod giI, UeehHl T
AN Tl % AN gRI, Ueehlgld & — OH W 1 BIEHRH s Il
AN FANEE YT A Al o ITINT & ST Sl 8 | THA geATSel
H THT H IolaeiTegl Tfaedmod Ak gra SR S 8 | T
SRRl UM o JMUR W AT(HREE] Tfcwemas ARt ol Syl 9 Sy2
srfufshanati & anfieha foham TR B | S 1T Sy2 sifufsran i frenfafy it wwem
% foTu foRtferdt <l AEwaqut fHent 3 |
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Answer the following questions :

(i)  When a coordination compound NiCl, . 6H,0 is mixed with

AgNOg solution, 2 moles of AgCl are precipitated per mole of

the compound. Write the structural formula of the complex and

secondary valency for Nickel ion.

(11) Write the IUPAC name of the
[Co(NHjz)5(SO4)ICI.

lonisation

isomer of

(iii) Using Valence Bond Theory, predict the geometry and

magnetic nature of :
(1) [Ni(CO),]
(2)  [Fe(CN)gl*~
[Atomic number : Ni = 28, Fe = 26]
OR

(ii1) Give reasons :

(1) Low spin tetrahedral complexes are not formed.

(2)  [Co(NHygl®"

[Ni(NHg)gl”

[Atomic number : Co = 27, Ni = 28]

iIs an 1nner orbital

+ . .
is an outer orbital complex.

2x1=2

2x1=2

whereas

The polarity of C — X bond of alkyl halides is responsible for their

nucleophilic substitution, elimination and their reaction with metal atoms

to form organometallic compounds. Alkyl halides are prepared by the free

radical halogenation of alkanes, addition of halogen acids to alkenes,

replacement of — OH group of alcohols with halogens using phosphorus

halides, thionyl chloride or halogen acids. Aryl halides are prepared by

electrophilic substitution of arenes. Nucleophilic substitution reactions are

categorised into Sy! and SN2 on the basis of their kinetic properties.

Chirality has a profound role in understanding the Sy! and SN2

mechanism.

<ar>
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(i) o BT 8 ST Yk 3R I Sufedfa § siHiEsia il Mg & a1y

sk 61 St 2 2 1
i) FfaRed grei § | sHE Afe OH™ o @ Sy 1 Afufsha
oftern | g 2 1

(2)  (CHg)4C — Cl 312&1 CH4Cl

(i) (1) 1-FANSA (2) F-159 ¥ 1-IFEYA & fo=q
GfeRu TfEu | 2 x1=2

GPC)]
i) T=fRaa g sifufshan o g 3carg) <t v fofge . 2. x7=2

(1) CHz— CH —CH3+KOH ———< qim:ua

|
Br

(2) + CH3COCl FSteftr Al >

Qs &

33. (%) 25°C W Fmfcifad gt 1 fogq-ate® 9 (emf) Rehfctd HIfT :
Zn (s) | ZnZ* (0-1 M) || H* (0-01 M) | Hy (g) (1 bar), Pt (s)

[fe=m T R E 2., =-076V, E. Hy 0-00 V, log 10 = 1]

(@) IS 1 AR o T@ad ETEH o1 99 FaqEe | IH & a1

foretae <Al STetendT 0 =1 81 Jrdl & 2 3+2=5
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Answer the following questions :

(i) What happens when bromobenzene is treated with Mg in the
presence of dry ether ? 1

(i1) Which compound in each of the following pairs will react faster

in Sy reaction with OH ? 1
(2) (CHg)3C —Cl or CH4Cl

(iii) Write the equations for the preparation of 1-iodobutane from
(1) 1-chlorobutane

(2) but-1-ene. 2x1=2
OR
(ili) Write the structure of the major products in each of the

following reactions : 2x1=2
(1) CHy- CH — CH, + KOH —thanol ,

| heat

Br

Anhyd. AIC1
2) + CH4COC1 Y 3,
SECTION E

33. (a) Calculate the emf of the following cell at 25°C :
Zn (s) | Zn2+(0-1 M) || H' (0-:01 M) | Hy () (1 bar), Pt (s)

[Given : EZn2+/ gn = 076 V, EH+/ H =000V, log 10 =1]

(b) State Kohlrausch law of independent migration of ions. Why does

the conductivity of a solution decrease with dilution ? 3+2=5
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34. (%) () T=fifea & wror @S
(1) HshHY gTgu Tpat Ak s & |
(2) HTE % fau E° AH 3k RUMcHsh @ Sdioh

Mn2+/ Mn

E 34, Mn2+%5 T e 2 |

(3) e fae # Cut 3T o 7 |
(i) URIGETEE I-EH (MnO,) ¥ KMnO, % o= & "rag FHieh

fofew | 3+2=5
HAAAT
(@) () Tr=Afcifaa S ggam Hif
(1) 3d it 61 THAY O1g AT had Teh SR TEAT
i @ |
(2) 3d oft K TehuUT Gg1g S Sy foeEE Ho+2 TR
AT § Yo YA R |

(i) Fefeiea weemm S i wgfoa Hif -
(1) Cr,00 +14H' + 6Fe? —

@ KMnO, —THFAR

(iii) o1 aTg w1 7 ? 31 Ueh ITANT TAfau | 2+2+1=5

35. (®) () CgH;,O MU I ATAT hig hisii-eh AR (X) I T
W d g falir Qo gurl gehdl 8 | T Sl HTEHI
difew Ife 737
(1) eMTcHe SAESIBH Fer 2ar 8 |
(2) HiFemr srfufsran guiar 2 |
(3) <fei=m Afiepes ol 3ufad L Ta1 & R 39H fohla e
2|
i) Tr=faRea @ grg stfufsran fafaw .

~

(1) aeH-ThIMT TI==H
(2) TA-BIATS-SleTeshl AT 3+2=5

AASAT
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34. (a) ()  Account for the following :

(1) Transition metals form complex compounds.
(2) The E;’VIHZJr M value for manganese is highly negative

)

M

whereas E 34 a2+ is highly positive.

(3) Cu" ion is unstable in aqueous solution.

(ii)) Write the equations involved in the preparation of KMnOy,
from Pyrolusite ore (MnO,). 3+2=5

OR

(b) () Identify the following :
(1) Transition metal of 3d series that exhibits only one
oxidation state.
(2) Transition metal of 3d series that acts as a strong

reducing agent in +2 oxidation state in aqueous solution.

(ii)) Complete and balance the following equations :
92—
(1) Cr,0; +14H" + 6Fe?* ——

2) KMnO, —Peat

(111) What is Misch metal ? Write its one use. 242+1=5

35. (a) (1) An organic compound (X) having molecular formula C;H,,0
can show various properties depending on its structures.
Draw each of the structures if it

(1) gives positive iodoform test.
(2) shows Cannizzaro’s reaction.

(3) reduces Tollens’ reagent and has a chiral carbon.

(ii) Write the reaction involved in the following :
(1) Wolff-Kishner reduction
(2) Hell-Volhard-Zelinsky reaction 3+2=5

OR

56/3/2 21> P.T.O.
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(1)

(i1)

3 fr=feifad e i 1 sviissh A § hdl FIRG
Hehd B ?

(1) CHRIHHH

(2) TSt

(3) SIS

fffiad ARl i 3 $A T T Tured % Sed §¢ hH |

ST HIY :

(1) OyN-CH,-COOH, F - CH, - COOH, CN - CH,COOH
(STciTE =FeER)

(2) WA, AU, A, TUH

(ATfyer=Et TS Afrfshamett o srfufshamsfierdr) 3+2=5



(b) (@) How can you convert each of the following compounds to

Benzoic acid ?
(1) Acetophenone
(2) Ethylbenzene

(3) Bromobenzene

(i1) Arrange the following compounds in increasing order of their

property as indicated :

(1) O,N - CH, - COOH, F — CH,, - COOH, CN — CH,COOH

(Acidic character)

(2) Ethanal, Propanal, Butanone, Propanone
(Reactivity in nucleophilic addition reactions) 3+2=5
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